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To exclude 7257 91 — 7D R Y9I IV

OVERVIEW

The X773 initially asked; why does the 105 state 'WwXI7', concerning 2717 n?°v1.
The X713 then continues (without answering this previous question) and asks why
does the 109 state 'WXAT', concerning ¥'"1°2 7oK1 7n°aw. The X3 answers that it
states WX to exclude T3 Hw . Seemingly (in this answer) the X3 is
referring to XY INaw; that 'MWwRIT' excludes 7oK1 An°aw on »"min. It would
seem that the first question (why does it say NWX277 by 2717 n%°01) is not answered.
mooin will explain that the answer 7% %W Y91 *vWwnb is an answer to both
questions (concerning 2717 and 7aR?11 7N°2W).

*

L1AN 01 XIN N7 Y193 19X A9 IND 17ININN
This exclusion of »"m1 is referring to both *0°p109 (the 10D concerning '7 NI¥n
2°1°n [where the 770 writes W] and the 7109 of 1'"1°2 798N An°aw [where the

7N writes wx1T]), for a 2915 is only taken in the 7177 for one day only, namely
the first day of m210 and not on »"mmn.* We derive this from the 7w 7' that is written by '7 N3
o . This answers the s'®773 first question (also).

SUMMARY
The mMxn of o2 '7 is for one day only (XN 1X71) outside the wWIpPnT 2.

THINKING IT OVER

1. Why is '1w&"7' needed to exclude 71°712 2917 n9°01 on »n"mn, when the P09 states
D°7° VAW 02°PYR 710199 anmmwn;” that the 21°0 of o nyaw is only 7 °19% which is in
the p"»772 and not 7°772?°

2. Moo maintains that the answer 797 5w 191 *vWwnY is referring to 2717 as well.

' The 09 states concerning 0°» '7 that 2% nYaw 02°PHX '71 197 onmawY, this teaches us that only '3 *19% (which refers
to the w7pni n"1) are we 0>°pn the 11 "7 N1xXn all seven days. See ‘Thinking it over’ # 1.

? Even though the X3 seems to be discussing only the 1WXIA concerning »"mna 798an Anaw, nevertheless it
applies to the 7wR17 of 2717 n%°v1 210 as well.

? The term 7277 refers to any place outside the w7pna N2 proper; including 2°>w1° and the rest of "x.

* The 'PwRAT' of 2°n '7 teaches us that 2979 N1 is only for the first day (Xn>»XT) just as the TWwx A" by Anaw
X711 comes to exclude 71 21,

> See footnote # 1.

% See ‘Thinking it over # 2; in72m2 NXINK XTM.
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How would then m0In explain the follow up question (of Rpo1 >1wY NWR KI77)
and answer (of WX 11¥ ¥ 7°01 1" X"70), concerning 1215?7

7 See R"wn.
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